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Multiplication – 3 

1. A lady earns ₹ 6575 per month. How much does she earn in 5 years? 

a) ₹ 39450       b) ₹ 349500 

c) ₹ 394500      d) ₹ 943500 

2. 45 students and 6 teachers went on a day trip by train. One ticket per student cost them      ₹ 

175 and one ticket per teacher cost them ₹ 275. How much money they must have spent on 

their round trip? 

a) ₹ 9525       b) ₹ 29050 

c) ₹ 15090      d) ₹ 19050 

3. John gets ₹ 1026 per day as wage, how much does he receive in February 2016? 

a) ₹ 29754       b) ₹ 19754 

c) ₹ 39754      d) None of these 

4. For Bob’s birthday party his father bought 250 chocolates at ₹ 15 per chocolate, one cake 

worth ₹ 1565 and 350 balloons at ₹ 2 per balloon. How much did his father spend in total? 

a) ₹ 5015       b) ₹ 6015 

c) ₹ 7015       d) None of these 

5. 245 X 787 X 12350 X 0 X 15890 = ____________ 

a) 4567893      b) 8795467 

c) 0       d) 453245678 

6. Mr. Steve earns $ 5462 per month. How much does he earn in 5 years? 

a) $ 327702      b) $ 327720 

b) $ 237720      d) None of these 

7. 7385 X 1000 X 100 = ____________ 

a) 7385000      b) 735800000 

c) 738500      d) 738500000 

8. A theater has 66 rows of seats. Each row has 55 seats. If one ticket costs ₹ 235, then how 

much money will the theater earn in one show? 

a) ₹ 853050      b) ₹ 835050 
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c) ₹ 583050      d) ₹ 850350 

9. A motor bike costs $ 7650 and a car costs $ 20675 more that the motor bike. What will be 

the total cost of 128 similar cars? 

a) $ 362560      b) $ 3625600 

c) $ 3652600      d) $ 2625600 

10. A sports company sells 5467 cricket balls in a day. How many cricket balls did he sell in 

February 2015? 

a) 153076      b) 135076 

c) 153706      d) None of these 

11.    A    A    A    A 

                             x A    A    A    A 

   A    A    A    A 

                       A    A    A    A    0     

                           A    A    A    A    0    0 

                     A    A    A    A    0    0    0  

                     A    C    B    D    B    C    A 

What is the value of A, B, C and D? 

a) A=1, B=4, C=3 and D=2    b) A=3, B=4, C=1 and D=2 

c) A=1, B=4, C=2 and D=3    d) A=1, B=3, C=2 and D=4 

12.   A      B 

          x B      A                Both A and B are different numbers 

      1     1      4    

           3     0 4     

           3     1      5      4  

What is the value of A and B? 

a) A=3 B=7      b) A=3 B=8 

c) A=8 B=3      d) Both B & C 
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13.  A      B      C 

 X               D           A, B, C and D are different numbers 

     1 6      7       3  

What is the value of A, B, C and D? 

a) A=2, B=3, C=9 and D=7    b) A=2, B=3, C=7 and D=9 

c) A=3, B=2, C=9 and D=7    d) None of these 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

   

 


